CROSSWORD

01. Large Numbers

If we divide zero by a
number, the quotient is
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ACROSS —
5 Number of match sticks usedto ~ DOWN
represent 8 in Roman system. 1 The number that is divided by
6 The numerals do not use the another number of a division
concept of place value. operation.
7 The number that does not 2 One of the symbols used to
has a predecessor. denote grouping (or) priority
8 The sixth place in the Indian in the order of operations.
system of numeration. 3 The sum of the predecessor of
9 Numerals of same 701 and successor of 299.
value are always. 4 Actual value of a digit.
10 Result of division. 11 The difference between the

predecessor and successor
of the greatest 5 digit number.




